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Table S1. Trend line equations and coefficient of determination R? for the characteristics shown in Fig.4 Fig.5, Fig.6 and

Fig.7.

Figure  Function Type of trend line Equation R?

Esep = f(A) Polynomial 6 order y =2E-09x° - 9E-07x>+ 0.0001x*- 0.0085x> + 0.3238x2 - 6.1625x + 67.924  0.9927
Fig. 4 R=1f(A) Logarithmic y =0.2969In(x) - 0.4696 0.9814
Yco, = f(A) Exponential y =0.0118e-000% 0.9973
Xco, =1 (A) y = 0.0004e-0023x 0.9998
Esep = f (Pco,) Polynomial 6 order y =-3E-09x5 + 1E-06x* - 0.0003x3 + 0.0267x2- 1.2991x + 46.994 0.9999
Fig. 5 R=1f(Pco,) Logarithmic y = 0.3316In(x) - 0.862 0.9943
Yco, = f (Pco,) Exponential y=0.01210-004 0.9996
Xco, = f (Pco,) y = 0.0004e001x 1.0000
Esep = f (Pco,) Polynomial 6 order y =3E-11x° - 2E-08x° + 4E-06x* - 0.0005x°+ 0.0387x2 - 1.4776x +47.518  1.0000
Fig. 6a R = f (Pco,) Logarithmic y =0.3443In(x) - 0.857 0.9977
YCOZ =f( PCOZ) Exponentil y = 0.0102¢0.005¢ 0.9988
Xco, = f(Pco,) y = 0.0004e-0012x 1.0000
Esep = f (Pco,) Polynomial 5 order y =-2E-09x°+ 1E-06x* - 0.0002x% + 0.0186x2 - 0.7951x + 42.202 1.0000
Fig. 6b R =f(Peo,) Logarithmic y =0.3494In(x) - 0.8055 0.9989
Yeo, = f (Pco,) Exponentil y = 0.0075-0.006x 0.9982
Xco, = f(Pco,) y = 0.0004e-0015% 1.0000
Ng = f (P, . =202.23x + 6478.5 1.0000
for 0,02(b322) Linear ’

Fig. 7a E)i"l ;0f4 (blz;roz) Linear y = 147.17x + 6458.7 1.0000
Ng = f (P, . =131.27x + 6458.7 1.0000
for. 0,05(b322) Linear ’

Fig. 7b Egep = f (Pcoz) Polynomial 6 order y =5E-11x°¢- 3E-08x° + 7E-06x* - 0,0009x° + 0,0664x? - 2,7222x + 74,768  1.0000
for 0.04 bar

Fig. 7b Esep = f (Pcoz) Polynomial 6 order y =7E-11x° - 4E-08x® + 9E-06x* - 0,0012x3+ 0,0828x2 - 3,3451x + 87,913  1.0000

for 0.05 bar

Energies 2024, 17, x. https://doi.org/10.3390/xxxxx

www.mdpi.com/journal/energies



